A
=
1R
i®
}:'Tg
A
2l

KT RFHMY

SWING CLAMPS <TYPE A>

EroN)’

No.E-9317

LB RIE[ELAR

THETR
FERIER L SCM420 # KXHRC60 L BALTE
KEE SCM420 # KHRC57 -
TR FRAR SCM420 # XHRC58 & EALE
R KA IR SCM440 # KHRC23 £ RALTE

TEUZETNM1412K 14

R
/‘\ilﬁﬁ':‘/// \
— 2
el
.
\1(3\'»4"\ \)
L
EBIR REFMEH BARBE, .
=) (EH) EATR R B LT FIREHT
W5
T4 B3 s Tae® apEm xpmR 0 DORTRE RAKEN . R
903489 | EWN44300A | 14 = MI2x1.75 40 25 - 30 0.25 2 1.0
903490 | EWN40600A | 14 = MI2x175 55 50 - 60 0.25 2 12
903491 | EWN40105A | 14  M12x1.75 55 70 -105 0.25 2 14
903492 | EWN40135A | 14  MI2x1.75 55 = 100 -135 0.25 2 17
903493 | EWN60135A | 14  M12x1.75 67  101.5-1365 0.25 2 3.0
WM R A A
B oN oN
EWN-44300A . EWN-40600A =
Jo o4 EWN-40105A Jo s
EWN-40135A Yon
B .
Pl EWN-60135A /
,Aﬂ 7
w ( —
of | o
I
£ J
I
£ J
BS A B: C:D E:F G H J ($87F) K N:O P Q (%)

EWN44300A |62:40:44:18: 9 29: 25
EWN40600A |75 5540 2021 23: 50
EWN40105A |75:55:40:20:21:23: 70
EWN40135A |75 55:40 2021 :23:100

- 30 116:36: M12X1.75: 87.4- 92.4:80.3:32:12° -
- 60 11636 M12X1.75:106.4-116.4:80.3:32:12:40: 10.5: M12X1.75
-105 :116:36 M12X1.75:126.4-161.4.80.3:32:12 40 10.5 M12X1.75
-135 11636 M12X1.75:156.4-191.4:80.3:32:12:40: 10.5: M12X1.75

EWN60135A |89:67:50:17:22:23:101.5-136.5:16:55: M12X1.75:157.4-192.4:80.3:32:12.60: 14 :M12X1.75
L ESi)a
EWN-44300A EWN-40600A. 40105A,
40135A,60135A
SR TR
O | PRRFAR @ | REFARH
@ | F1788 @ | F178H
Q@ | RiERA AR @ | PRER AR
@ | F2E @ | F2E
© | H# © | s
@ | ke @ | fiEE
HANRBEREEST (FX) HAREEEST (Fk)

http://www.nabeya.co.jp



